In accordance with Section 89 of the Insolvency Act 1986.

LIQ01 Notice of statutory declaration of solvency



For further information, please refer to our guidance at www.gov.uk/companieshouse

1	Company details	
Company number	1 0 2 2 5 8 7 7	→ Filling in this form Please complete in typescript or in
Company name in full	Home Energy Limited	bold black capitals.
		-
2	Name of person delivering the notice	
Full forename(s)	Charles	
Surname	Brook	
3	Address of person delivering the notice	
Building name/number	100 Barbirolli Square	
Street	Manchester	_
		_
Post town		_
County/Region		
Postcode	M 2 3 B D	
Country		
4	Capacity in which the person is acting in relation to the comp	pany
	Joint Liquidator	

LIQ01 Notice of statutory declaration of Solvency

5	Attachments	
	I attach:	
	☑ Declaration of solvency.	
	☑ Statement of assets and liabilities.	
6	Sign and date	
Signature	X Claud	
Signature date	1 7 0 1 2 0 4	

Presenter information

You do not have to give any contact information, but if you do it will help Companies House if there is a query on the form. The contact information you give will be visible to searchers of the public record.

Contact name	Stan Sklar		
Company name	Xeinadin Corporate Recovery		
	Limited		
Address	100 Barbirolli Square		
	Manchester		
Post town			
County/Region			
Postcode	M 2 3 B D		
Country			
DX			
Telephone	0161 832 6221		

1

Checklist

We may return forms completed incorrectly or with information missing.

Please make sure you have remembered the following:

- ☐ The company name and number match the information held on the public Register.
- ☐ You have attached the required documents.
- ☐ You have signed the form.

Important information

All information on this form will appear on the public record.

■ Where to send

You may return this form to any Companies House address, however for expediency we advise you to return it to the address below:

The Registrar of Companies, Companies House, Crown Way, Cardiff, Wales, CF14 3UZ. DX 33050 Cardiff.

t Further information

For further information please see the guidance notes on the website at www.gov.uk/companieshouse or email enquiries@companieshouse.gov.uk

This form is available in an alternative format. Please visit the forms page on the website at www.gov.uk/companieshouse

Section 89(3)
The Insolvency Act 1986
Members Voluntary Winding Up
Declaration of Solvency
Embodying a Statement of
Assets & Liabilities

Company No 10225877

Name of Company Home Energy Limited

Presented by Charles Brook and Alan Fallows of Xeinadin Corporate Recovery, The Media Centre,

7 Northumberland Street, Huddersfield, HD1 1RL

DECLARATION OF SOLVENCY

We Charles Henry Fairpo of The Chapel, 6 Silver Street, Witcham, Ely, CB6 2LF and Kevin Ian Stoker of 28 Heathfield Park, Midhurst, West Sussex, GU29 9HN

being all of the directors of

Home Energy Limited

Do solemnly and sincerely declare that we have made a full enquiry into the affairs of this company, and that, having done so, we have formed the opinion that this company will be able to pay its debts in full together with interest at the official rate within a period of 12 months, from the commencement of the winding up.

We append a statement of the company's assets and liabilities as at 11 December 2023 being the latest practicable date before the making of this declaration.

We make this solemn declaration, conscientiously believing it to be true, and by virtue of the provisions of the Statutory Declarations Act 1835.

Declared at

9:25am

Date

20 Deanter 2023

Signatures

CHARLES HELLY CAINS

Before Me

Solicitor or Commissioner of Oaths

TOM MCCUE VIA VIDEO TECHNOLOGY

JMW Solicitors LLP

1 Byrom Place Spinningfields

Manchester M3 3HG

Section 89(3)
The Insolvency Act 1986
Members Voluntary Winding Up
Declaration of Solvency
Embodying a Statement of
Assets & Liabilities

Company No 10225877

Name of Company Home Energy Limited

Presented by Charles Brook and Alan Fallows of Xeinadin Corporate Recovery, The Media Centre,

7 Northumberland Street, Huddersfield, HD1 1RL

DECLARATION OF SOLVENCY

We Charles Henry Fairpo of The Chapel, 6 Silver Street, Witcham, Ely, CB6 2LF

and Kevin lan Stoker of 28 Heathfield Park, Midhurst, West Sussex, GU29 9HN

being all of the directors of

Home Energy Limited

Do solemnly and sincerely declare that we have made a full enquiry into the affairs of this company, and that, having done so, we have formed the opinion that this company will be able to pay its debts in full together with interest at the official rate within a period of 12 months, from the commencement of the winding up.

We append a statement of the company's assets and liabilities as at 11 December 2023 being the latest practicable date before the making of this declaration.

We make this solemn declaration, conscientiously believing it to be true, and by virtue of the provisions of the Statutory Declarations Act 1835.

Declared at

Date

20th December 2023 20 09.25 Ws

Signatures

KEVIN STOKER

Before Me

Solicitor or Commissioner of Oaths

TOM MCCUE VIA VIDEO TECHNOLOGY

JMW Solicitors LLP

1 Byrom Place Spinningfields

Manchester M3 3HG

Insolvency Act 1986 Home Energy Limited Company Registered Number: 10225877 Estimated Statement of Assets & Liabilities as at 11 December 2023

	Book Value	Estimated to Realise	
	£	£	£
ACCETO			
ASSETS VAT Refund	21,200.00		21,200.00
Cash in Hand	86,500.00		86,500.00
ousil in Fland	33,333.33	_	107,700.00
			,
LIABILITIES			
PREFERENTIAL CREDITORS:-			
		_	NIL
			107,700.00
2nd PREFERENTIAL CREDITORS:-			
ZHAT KET ZHEKTINE GREST GRO.			NIL
		_	107,700.00
DEBTS SECURED BY FLOATING CHARGES			
		_	NIL 107 700 00
			107,700.00
Unsecured liabilities			
Shoosard hashings			NIL
TOTAL SURPLUS/(DEFICIENCY)		_	107,700.00
		=	
Estimated and appearance of the minding up			0.007.05
Estimated costs and expenses of the winding up Estimated amount of interest accruing until payment of	debts in full		8,027.35 0.00
Estimated amount of interest according until payment of	debts in full		0.00
Estimated surplus after paying debts in full together with	n interest at 8%	_	99,672.65
, , , ,		=	,
Remarks			

Xeinadin Corporate Recovery Limited Home Energy Limited Company Registered Number: 10225877 C - Shareholders

Key	Name	Address	Туре	Nominal Value	No. Of Shares	Called Up per share	Total Amt. Called Up
HA00	Paul Allsop	7 Fairbourne, Cobham, Surrey, KT11 2BT	Ordinary	0.001	250,000	0.001	250.00
HA01	Paul Agazarian	Uffords, Queens Lane, Chevington, Bury St Edmunds, IP29 5RF	Ordinary	0.001	750,000	0.001	750.00
HC00	John Collins	Moreton Lodge, Pedlars End, Moreton, Essex, CM5 0LR	Ordinary	0.001	250,000	0.001	250.00
HD00	Andrew Doyle	44 Kingsway, Petts Wood, Kent, BR5 1PS	Ordinary	0.001	125,000	0.001	125.00
HD01	Robert Darby	Woodlands, The Ridge, Epsom, KT18 7EP	Ordinary	0.001	200,000	0.001	200.00
HD02	Adam Deane	deane.adam@hotmail.co.uk	Ordinary	0.001	50,000	0.001	50.00
HE00	Robert Eynon	9 Morton Avenue, Kidlington, OX5 1BS	Ordinary	0.001	500,000	0.001	500.00
HG00	Stephen Godwin-Austen	info@shalfordestates.co.uk	Ordinary	0.001	500,000	0.001	500.00
HH00	Rob Hammond	rob.hammond@chalham.com	Ordinary	0.001	250,000	0.001	250.00
H H 01	David Harvey	Wickham Hall, Handham Road, Bishops Stortford, CM23 1LG	Ordinary	0.001	7,500,000	0.001	7,500.00
HH02	Hugo McMullen	hugomcmullen@gmail.com	Ordinary	0.001	250,000	0.001	250.00
HH03	Heather-Anne Hubbell	hahubbell@netscape.net	Ordinary	0.001	250,000	0.001	250.00
HJ00	John Hubbell	john@hubbellventures.com	Ordinary	0.001	250,000	0.001	250.00
HK00	Kevin Stoker	28 Heathfield Park, Midhurst, West Sussex, GU29 9HN	Ordinary	0.001	100,000	0.001	100.00
HM00	Rod Mountain	62 Lammas Lane, Esher, KT10 8PD	Ordinary	0.001	1,000,000	0.001	1,000.00
HM01	Fergus McMullen	fjmcmullen@mcmullens.co.uk	Ordinary	0.001	250,000	0.001	250.00
HM02	Kate McMullen	KateMcMullen@btinternet.com	Ordinary	0.001	150,000	0.001	150.00
HM03	Camelia Mcmullen	CameliaMcmullen@hotmail.com	Ordinary	0.001	150,000	0.001	150.00
HN00	Christopher Newson	Priory Lodge, Braxled Park Road, Tiptree, Colchester, CO5 0QB	Ordinary	0.001	500,000	0.001	500.00
HN01	Anand Nayee	21 Welwyn Close, Bewbush, Crawley, RH11 6EB	Ordinary	0.001	50,000	0.001	50.00
HP00	Jaymini Patel	1 Windrush Close, Gossops Green, Crawley, RH11 8AS	Ordinary	0.001	50,000	0.001	50.00
HP01	Girish Patel	2 Windrush Close, Gossops Green, Crawley, RH11 8AS	Ordinary	0.001	150,000	0.001	150.00
HP02	Alastair Parker	Brandons House, Brandons Farm, Anstey, SG9 0BS	Ordinary	0.001	500,000	0.001	500.00
HS00	Jean-Philippe Stoker	28 Forest Road, Loughton, Essex, IG10 1DX	Ordinary	0.001	500,000	0.001	500.00
HS01	Carine Stoker	Little Holland, 177 Hempstead Road, Watford, WD17 3HG	Ordinary	0.001	250,000	0.001	250.00

Kevin Stoker Signature

Xeinadin Corporate Recovery Limited Home Energy Limited Company Registered Number: 10225877 C - Shareholders

Key	Name	Address	Туре	Nominal Value	No. Of Shares	Called Up per share	Total Amt. Called Up
HS02	Amanda Stoker	28 Heathfield Park, Midhurts, West Sussex, GU29 9HN	Ordinary	0.001	500,000	0.001	500.00
HS03	Elizabeth Stoker	The Arches, The Grove, Coleford, Radstock, BA3 5LW	Ordinary	0.001	50,000	0.001	50.00
HS04	Steve Symes	31 Newnham Close, Loughton, Essex, IG10 4JG	Ordinary	0.001	150,000	0.001	150.00
HS05	Sally Stockings	sally@stockcroft.co.uk	Ordinary	0.001	500,000	0.001	500.00
HS06	John Stockings	john@stockcroft.co.uk	Ordinary	0.001	125,000	0.001	125.00
HS07	Charles Stockings	charlie@stockcroft.co.uk	Ordinary	0.001	125,000	0.001	125.00
HS08	David Stockings	david@fawleyfarms.co.uk	Ordinary	0.001	125,000	0.001	125.00
HS09	Tom Stockings	tom@stockcroft.co.uk	Ordinary	0.001	125,000	0.001	125.00
HT00	Mara Thorne	11 Merrylands Road, Bookham, Surrey, KT23 3HP	Ordinary	0.001	50,000	0.001	50.00
HT01	Nicholas Toomey	1 Sailsbury Road, Banstead, Surrey, SM7 2DP	Ordinary	0.001	250,000	0.001	250.00
HW00	Brian Wilcox	Longbury, Old London Road, Mickleham, Surrey, RH5 6DL	Ordinary	0.001	100,000	0.001	100.00
HW01	Christopher Webb	6 Corfe Close, Ashted, Surrey, KT21 2HA	Ordinary	0.001	50,000	0.001	50.00
HW02	Martin West	83 Dorking Road, Epson, Surrey, KT18 7JU	Ordinary	0.001	300,000	0.001	300.00
38 Ordin	nary Entries Totalling				17,225,000		



Signature

Page 2 of 2

Xeinadin Corporate Recovery Limited Home Energy Limited Company Registered Number: 10225877

B - Company	Creditors
-------------	-----------

Key	Name	Address	£
0 Entrie	s Totalling		0.00



Signature

Page 1 of 3 IPS SQL Ver. 2015.09 13 December 2023 13:52